

Townhouse in Zebbug



Zebbug, Central



€910,000

Reference No: 240251096-405

 Total Rooms: 15

 Floor Area (m²) : 236

 Bathrooms: 7

 Bedrooms: 7

Townhouse - For Sale - Zebbug

Zebbug (Malta) – Highly renovated Traditional Townhouse situated in a very tranquil area, yet close to all amenities. Once one enters this property, one is welcomed into a hall and study area, leading to a central courtyard which gives the house lots of natural light. Further in there is a very large kitchen / dining area which leads to a mill room which can be the main living area. On the other two floors one finds five bedrooms, all with en suite facilities together with extra bathrooms. At roof level there is a lovely roof terrace ideal for summer entertaining. Property is fully air conditioned and all modern facilities including PVC apertures. The property kept its authentic old Maltese style.

Features

Rooms

- ✓ Kitchen/Dining : 7.5 x 2.92 m (21.9 m²)
- ✓ Hallway : 7 x 1.97 m (13.79 m²)
- ✓ Double Bedroom : 4.36 x 5 m (21.8 m²)
- ✓ Double Bedroom : 4 x 4 m (16 m²)
- ✓ Double Bedroom : 4.22 x 3.6 m (15.19 m²)
- ✓ Double Bedroom : 4.86 x 3.9 m (18.95 m²)
- ✓ Double Bedroom : 4.32 x 3.2 m (13.82 m²)
- ✓ Double Bedroom : 4.32 x 3.2 m (13.82 m²)
- ✓ Double Bedroom : 4.86 x 3.9 m (18.95 m²)
- ✓ Shower Ensuite : 2.7 x 1.42 m (3.83 m²)
- ✓ Shower Ensuite : 1.7 x 1.53 m (2.6 m²)
- ✓ Shower Ensuite : 2.45 x 1.93 m (4.73 m²)
- ✓ Shower Ensuite : 2.2 x 1.46 m (3.21 m²)
- ✓ Shower Ensuite : 2.3 x 1.39 m (3.2 m²)
- ✓ Shower Ensuite : 2.2 x 1.46 m (3.21 m²)
- ✓ Shower Ensuite : 2.3 x 1.39 m (3.2 m²)

- ✓ Open Space : 4 x 1 m (4 m²)
- ✓ Open Space : 2 x 1 m (2 m²)
- ✓ Open Space : 4 x 1 m (4 m²)
- ✓ Open Space : 6 x 6 m (36 m²)
- ✓ Open Space : 3.25 x 3.75 m (12.19 m²)

Gallery









Clive Pollacco

RE/MAX Advantage

M: 79486346

E: clivep@remax.com.mt

T: 21222123

RE/MAX Advantage

Advantage Residential Ltd, Triq Dun Karm, Birkirkara, Malta